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ACTIVITY, S

*The formation of an insoluble product, called a precipitate, which
settles out of the reaction mixture into the solid phase, for
example:

Pb(N03)2
#The formation of a gas that escapes from the reaction mixture.

Three gases often formed are CO,, S0.,, and NH,. For example,
s 5 2. 2 3
if the reaction:

(ag) + 2HCl(aq) -— PbClz(s) ¥ ZHNOB(aq)

2HCl(aqg) + K2C03(aq) ---3 2KCl(aq) + HZCOB(BQ)

is acrried out in an open test tube or flask, the product H CO3

will react further to form H,0 and CO until all of the H c83 s
used up. We can write the e§uation f&r the complete reac ion as
follows:

2HCl(ag) + K COB(aq) e 2KCI(aqg) #* HZO(l) + Coz(g)

2
It is convenient to write the formula H CO3 to write the equation.

However, H,CO., should be changed to 52031) + CO,(g) in the completed
equation. +“Similarly, when H SO3 appedrs to be ghe product of a

double replacement, it shoulé pd written H,O0(l) + SO,(g) in the

completed equation. Also, when NH OH is ofie of the products, it

should be written NH3(g) * Hzo(l) én the completed equation.

3. Complete and balance each of the following double replacement
reactions, in which water is a product.

a. + KOH(ag) ---2 HOH(1) + K3P04(a<
b. - HC,H0,(aq) + Ca(OH),(aq) --=7 HOH(1) +
c. s HiCllag) + o BaCl,(aq) + HOH (

4. complete and balance each of the following double replacement
reactions, in which an ins%luble compound (precipitate) is a

product.
AL AgNOB(aq) + NaZJCO_’,(aq) - (s} *
NaNOB(aq)
b. + ——— A1P04(S) +
KC1l(aq)
G BaClz(aq) + NaZCrO4(aq)
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- Y Complete and balance each of the following double replac

reactions, in which a gas is produced.

CO,(g) +

aui-c Na2503(aq) + q__HNOﬂaq) SAany
. (g) + H20(1)
B (NH4)3904(aq) + KOH(ag) --->
H,0(1) + (g)
ez + ===
H20(1) + ZnClz(aq)
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